[deg]

o
=
D

1 do
o
dag,,
|_\
N

Ratio to CMS

0.1

0.08

0.06

0.04

0.02

13000 GeV pp Jets
J_ T I T I T I T I T | T I T I I T J_ 9
c
B AQ(jj) (CMS back-to-back jets) 13
- BS
~ m CMS g
| --G-- Herwig++ 2.7.1 default N
— ---- Herwig 7.2.1 default —13
— —— Pythia 8.170 default - ;
| ¢ Sherpa 1.3.1 default ] o
— i
B @
— — ™M
@
I — ™M
L o
o
- ™M
—
- =
- _ X
B 18
N
B 1<
- | <
o)
- — S
- )]
IS
B 1o
| | o
| . . . | . . . || E
:l T T T | T T T |:
- 42
- Ay -
N S S 1
— —0.5
l . . l . . l
170 175 180



	Contents
	Page 1


